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Supplementary Figure S1. The figure represents LogEC50, which represents the concentration of a substance required to
produce a 50% response after a specified exposure time (at 12.5 mg/L and 25 mg/L of eugenol) in stage 1 of induction.



Stage 2 Stage 2

<]
o
o
1
0
o
o
1

-- 1,8-cineole —-e— 1,8-cineole

1,8-cineole with

- eugenol 12.5 mg/L

1,8-cineole with
eugenol 25 mg/L

2]
(=1
o
[=2}
[=3
o
1
[}
[ J

Induction (sec)
H
[=}
o
1
Induction (sec)
-y
[=}
T

N
(=]
o o
&

0 1 1 I I 1
0 100 200 300 400 500
1,8-cineole (mg/L)

I 1 1 1 1
100 200 300 400 500
1,8-cineole (mg/L)

o

Supplementary Figure S2. The figure represents LogEC50, which represents the concentration of a substance required to
produce a 50% response after a specified exposure time (at 12.5 mg/L and 25 mg/L of eugenol) in stage 2 of induction.



